What was Queen Hatshepsut best remembered for

She had the longest reign of any Egyptian female and is also regarded as one of Egypt’ s most successful rulers. Hope his helps:)

How isthe information of adigital two-dimensional image organized and stored? In a spreadsheet.

In Python ints and floats.

In alist of polygons and vertices.

Inagrid of discrete elements.

For the two weeks period, Jan earned $150 |ess than twice Tom's earnings. Together Jan and Tom earned $1380. How much did Tom earn?

I need help with this question, | can work out the ratio but | am just confused with the question. So do help if you can please. A theatre has the capacity to seat
people across two levels, the Circle, and the stalls. The ratio of the number of seatsin the circle to anumber of seatsin the stallsis 2:5 Last Friday, the audience
occupied all the 528 seatsin the circle and 2/3 of the seats in the stalls What is the percentage of occupancy of the theatre last Friday? Given 2 significant
figures.

Anangle R and it's complement are in the ratio 2:7.What is measure in degrees of angle R??

Did Machiavelli believe that human beings are all good, all bad, or amix of both? Y our answer should be at least 150 words.

If it takes 10 grannies 10 minutes to knit 10 socks, how long would it take 100 grannies to knit 100 socks?

What is the value of 2/3n = -12

Aliciahas agold bracelet and a silver bracelet. She has a black ring, a blue ring, a brown ring, and a white ring. She also has a gold necklace and a silver
necklace. How many different combinations of bracelets, rings, and necklaces can Alicia make?

Which is closer to the value of 5715?

What percentage of total expensesis spent on housing? (round to nearest whole percent) A) 20%

B) 21%

C) 22%

D) 24%

Help would be apprecioted!

Which of the following occured as aresult of the lateral movement of continental plates?

Dale has a special deck of cards. Each card has a different rational number on it. The cards are 0.25,4/5,2/9,0.48, and 8/11. How many cards have avaue that is
greater than 1/2

Explain how hereditary are passed from one generation to another

Round 248,739 to the nearest hundred

A 2000-1b car drives from Denver (altitude: 5280 feet) to Los Angeles (sealevel). What isits change in potential energy, in BTU? g = 32.174 ft/s? Provide your
answer rounded to one decimal place, and make sure to include units. * 2) The velocity of an object increases by 50% (V?=1.5 V?). By what factor does the
Kinetic energy increase? *
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G1l)a2+3a-40=0.

solving quadratic equations

Write reaction showing how each of the buffers would neutralize added naoh. hcho2 and nacho2

Which of the following is a TRUE statement regarding the skeletal system? There are 28 vertebrae that cover the spinal cord. There are 14 pairs of rib bones that

make up the thorax. There are 10 major facial bones. There are 3 components to the sternum bone.
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